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TNPSC GROUP IV EXAMINATION 01.09.2019 

GENERAL STUDIES 
 

101. Match List I and List II: 
List I     List II 

 Planets    Number of natural satellites 
 a. Mars    1. 60 satellites 
 b. Jupiter    2. 27 satellites 
 c. Saturn    3. 63 satellites 
 d. Uranus    4. 2 satellites 
  a b c d 
 A. 1 2 3 4 
 B. 4 3 1 2 
 C. 1 4 2 3 
 D.  4 1 3 2 

gl;bay; I ia gl;bay; II cld; nghUj;Jf 
gl;bay; I   gl;bay; II 
a. nrt;tha;   1. 60 Jizf;Nfhs;fs; 
b. tpahod;   2. 27 Jizf;Nfhs;fs; 
c. rdp   3. 63 Jizf;Nfhs;fs; 
d. ANud];   4. 2 Jizf;Nfhs;fs; 
 a b c d 
A. 1 2 3 4 
B. 4 3 1 2 
C. 1 4 2 3 
D. 4 1 3 2 

 
102. The compound used in breath analysis test for drunken driving is 

A. K2Cr2O7  B. KI  C. KMnO4  D. CuSO4 
kJ mUe;jp thfdk; Xl;Ltij fz;Lgpbf;Fk; Rthrg;gFg;gha;T Nrhjidapy; 
gad;gLk; Nrh;kk; 
A. K2Cr2O7  B. KI  C. KMnO4  D. CuSO4 
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103. Which Metro Rail Corporation has started the initiative to become the 
World‟s first 100% solar-powered metro? 
A. Jaipur Metro Rail Corporation Ltd. 
B. Gujarat Metro Rail Corporation Ltd. 
C. Delhi Metro Rail Corporation Ltd. 
D. Chennai Metro Rail Corporation Ltd. 
100% #hpa Mw;wiy gad;gLj;jp> cyfpd; Kjy; nkl;Nuhthf cUthf 
Kaw;rp nra;Ak; ,uapy; epWtdk; vJ? 
A. n[a;g;g+h; nkl;Nuh ,uapy; epWtdk; 
B. F[uhj; nkl;Nuh ,uapy; epWtdk; 
C. nly;yp nkl;Nuh ,uapy; epWtdk; 
D. nrd;id nkl;Nuh ,uapy; epWtdk; 
 

104. As per G-20 surveillance note, India‟s economy is to grow at ______ in the 
year 2020 
A. 6.5%  B. 5.5%  C. 7.5%  D. 8.% 
G-20 fz;fhzpg;G Fwpg;gpd;gb 2020 Mk; Mz;L ,e;jpahtpd; nghUshjhu 
tsh;r;rp __________ Mf ,Uf;Fk; 
A. 6.5%  B. 5.5%  C. 7.5%  D. 8.% 
 

105. In the year 1951, population growth rate is called 
A. Year of Great Divide  B. Year of Population Explosion 
C. Year of Population   D. Year of Small Divide 
1951Mk; Mz;L kf;fs;njhif ngUf;f tPjk; ,t;thW miof;fg;gLfpwJ 
A. ngUk; gphptpid Mz;L  B. kf;fs;njhif ntbg;G Mz;L 
C. kf;fs;njhif Mz;l  D. rpWgpsT Mz;L 
 

106. In which desert is Noor Complex located? 
A. Sahara Desert    B. Thar Desert 
C. Kalhari Desert    D. Gopi Desert 
E}h; fhk;g;sf;]; ve;j ghiytdj;jpy; mike;Js;sJ? 
A. r`huh ghiytdk;   B. jhh; ghiytdk; 
C. fy;`hhp ghiytdk;   D. Nfhgp ghiytdk; 
 

107. Which of the following statement(s) is are/correct? 
1. In 2019, World Environment Day was Celebrated in China. 
2. The Theme for the World Environment Day is Air Pollution 
A. 1 and 2 are true    B. 1 is true, 2 is false 
C. 1 and 2 are false    D. 2 is true, 1 is false 
gpd;tUk; $w;Wfspy; vit rhpahdJ? 
1. 2019Mk; Mz;bd; cyf Rw;Wr;#oy; jpd nfhz;lhl;lk; rPdhtpy; 

eilngw;wJ 
2. mjd; ikaf;fUj;J : fhw;W khR 
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A. 1> 2 Mfpait rhp  B. 1 rhp 2 jtW 
C. 1> 2 Mfpait jtW D. 2 rhp 1 jtW 
 

108. The objective of Jandhan Yojana is 
A. Financial inclusion   B. Reducing regional disparities  
C. Social exclusion   D. Population control 
[d;jd; jpl;lj;jpd; Fwpf;Nfhs; 
A. midtiuAk; cs;slf;fpa nghUshjhu Kd;Ndw;wk; 
B. gpuhe;jpa Vw;wj;jho;Tfis Fiwg;gJ 
C. r%f tpyf;fy; 
D. kf;fs;njhif fl;Lg;ghL 
 

109. France has ____ party system. 
A. Single party    B. Multi party 
C. Biparty     D. None 
gpuhd;rpy; cs;s fl;rp Kiw 
A. xw;iwf;fl;rp Kiw   B. gyfl;rp Kiw 
C. ,ul;il fl;rp Kiw   D. vJTk; ,y;iy 
 

110. Which water conservation campaign has been recently launched by the 
Central Government? 
A. Jal Bachav Abhiyan   B. Jal Tarang Abhiyan 
C. Jal Suraksha Abhiyan  D. Jal Shakthi Abhiyan 
kj;jpa murhy; njhlq;fg;gl;Ls;s ePh; ghJfhg;Gg; gug;Giu vJ? 
A. [y; gr;rht; mgpahd;  B. [y;juq; mgpahd; 
C. [y; Ruf;~h mgpahd;  D. [y; rf;jp mgpahd; 
 

111. The major port along the West Coast 
A. Kandla  B. Chennai  C. Paradip  D. Kolkata 
Nkw;F flw;fiuapy; mike;Js;s nghpa JiwKfk; 
A. fz;l;yh  B. nrd;id  C. ghujPg;  D. nfhy;fj;jh 
 

112. In lower organism sometimes the entire mature organisms do not form 
gametes but they themselves behave as gametes and the fusion of such 
mature individuals is known as  
A. Anisogamy    B. Merogamy 
C. Paedogamy    D. Hologamy 
fPo;epiy caphpfspy; rpy rkaq;fspy; Kjph;e;j caphpfs; ,dr;nry;fis 
cUthf;fhky; mt;TaphpfNs ,dr;nry;fs; Nghd;W nray;gl;L xd;wpize;J 
Gjpa caphpfisj; Njhw;Wtpf;Fk; nray; 
A. NtWgl;l nry; Nrh;f;if  B. khWgl;l nry; Nrh;f;if 
C. ,sk; nry; Nrh;f;if  D. KO Nrh;f;if 
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113. Match the following: 

Place    Leaders of the revolt 
 a. Delhi   1. Begum Hazarat Mahal 
 b. Central India  2. Tantia Tope 
 c. Lucknow   3. Rani Laxmi Bai 
 d. Kanpur   4. Bhadur Shah – II 
  a b c d 
 A. 2 1 3 4 
 B. 4 3 1 2 
 C. 1 3 4 2 
 D. 4 2 1 3 

nghUj;Jf 
,lk;    fpsh;r;rpapy; <Lgl;l jiyth;fs; 
a. nly;yp   1. Ngfk; `];uj; nk`y; 
b. kj;jpa ,e;jpah 2. jhe;jpah Njhg;Ng 
c. yf;Ndh   3. ,uhzp ,yl;Rkp gha; 
d. fhd;g+h;   4. gfJ}h;~h II 
 a b c d 
A. 2 1 3 4 
B. 4 3 1 2 
C. 1 3 4 2 
D. 4 2 1 3 

 
114. Who was selected as the first Chief Vigilance Commissioner of India? 

A. Sharad Kumar    B. B.K. Acharya 
C. Nittoor Srinivasa Rau   D. R.P. Khanna 
Kjyhtjhf Njh;e;njLf;fg;gl;l eLtz; tpopg;Gzh;T Mizaj;jpd; Mizah; 
ahh;? 
A. ruj;Fkhh;   B. B.K. Mr;rhh;ah 
C. ePl;Lh; rPdpthr uht;  D. R.P. fz;zh 
 

115. Consumer Protection Act is called as 
A. Tamil Nadu Nugarvor Kavasam 
B. Consumer’s Magna Carta 
C. World Nugarvor Kavasam 
D. Valuable Consumer Kavasam 
Efh;Nthh; ghJfhg;Gr;rl;lk; _______ vd miof;fg;gLfpwJ 
A. jkpo;ehL Efh;Nthh; ghJfhg;G rl;lk; 
B. Efh;Nthhpd; kfhrhrdk; 
C. cyf Efh;Nthh; ftrk; 
D. kjpg;Gs;s Efh;Nthh; ftrk; 
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116. In which model of elections, the President and the Vice-President, the 

members of the Rajya Sabha are elected? 
A. By-Elections    B. Direct Election 
C. Indirect Election   D. Mid-Term polls 
FbauRj;jiyth; kw;Wk; Jiz FbauRj;jiyth;> ehlhSkd;w Nky;rig 
cWg;gpdh;fs; _______ Kiw %yk; Njh;e;njLf;fg;gLfpd;wdh; 
A. ,ilj;Njh;jy;fs;   B. Neubj;Njh;jy; Kiw 
C. kiwKfj;Njh;jy; Kiw  D. ,ilg;gUtj; Njh;jy;fs; 
 

117. Which of the following statements is / are correct? 
1. The term of office of the Governor is five years 
2. He can remain in office till his successor enters upon the office of the 
Governor. 
A. Both 1, 2 are correct   B. only 1 is correct 
C. only 2 is correct   D. Both 1, 2 are incorrect 
gpd;tUk; $w;Wfspy; vit rhpahdJ? 
1. MSehpd; gjtpf;fhyk; Ie;J Mz;Lfs; 
2. MSehpd; gjtpf;fhyk; Kbtile;j NghjpYk; $l gpd;dh; tUgth; 

gjtpNaw;Fk; tiu gjtpapy; njhlh;fpwhh; 
A. 1> 2 Mfpa ,uz;Lk; rhp  B. 1 kl;Lk; rhp 
C. 2 kl;Lk; rhp    D. 1> 2 Mfpa ,uz;LNk jtW 
 

118. Which of the following statements about bases is/are true? 
I. Base is a substance which releases hydroxide ions when dissolved in 

water 
II. They change blue litmus to red 
III. Zinc reacts with sodium hydroxide to form Sodium Zineate with the 

liberation of hydrogen gas 
IV. They are colourless with phenolphthalein and pink with methyl 

orange. 
A. I and III  B. II only  C. III and IV D. IV and II 
fhuq;fs; gw;wpa fPo;f;fz;l $w;Wfspy; vJ / vit rhp? 
I. fhuq;fs; ePhpy; fiue;J i`l;uhf;irL madpfisj; jUk; Nrh;kq;fs; 

fhuq;fs; vdg;gLfpd;wd 
II. ,it ePy ypl;k]; jhisr; rptg;ghf khw;Wfpd;wd 
III. Jj;jehfk;> Nrhbak; i`l;uhf;irLld; tpidGhpe;J i`l;u[d; 

thAit ntspapl;L Nrhbak; [pq;Nfl;ilj; jUfpwJ 
IV. ,it gpdhg;jypDld; epwkw;wjhfTk; nkj;jpy; MuQ;Rld; ,sQ;rptg;G 

epwj;ijAk; jUfpd;wd 
A. I kw;Wk; III  B. II kl;Lk; 
C. III kw;Wk; IV  D. IV kw;Wk; II 
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119. Match List I with List II : 
a. Right to equality   1. Articles 25-28 
b. Right to Freedom   2. Articles 14-18 
c. Right to constitutional remedies 3. Articles 19-22 
d. Right to freedom of religion 4. Article 32 
 a b c d 
A. 2 3 4 1 
B. 1 4 3 2 
C. 3 2 1 4 
D. 4 1 2 3 
gl;bay; I I II cld; nghUj;Jf 
a. rkj;Jt chpik  1. tpjpfs; 25 Kjy; 28 tiu 
b. Rje;jpu chpik  2. tpjpfs; 14 Kjy; 18 tiu 
c. murpayikg;gpw;Fl;gl;L 3. tpjpfs; 19 Kjy; 22 tiu 
  jPh;T fhZk; chpik 
d. rka Rje;jpu chpik 4. tpjp 32 
 a b c d 
A. 2 3 4 1 
B. 1 4 3 2 
C. 3 2 1 4 
D. 4 1 2 3 
 

120. From when Women were granted the right to vote in British India? 
A. 1920  B. 1921  C. 1922  D. 1923 
gphpl;b~; ,e;jpahtpy; ngz;fSf;F thf;Fhpik ve;j Mz;bypUe;J 
toq;fg;gl;lJ? 
A. 1920  B. 1921  C. 1922  D. 1923 
 

121. In which year the Staff Selection Board was established in Tamilnadu during 
the Panagal Ministry? 
A. 1916  B. 1920  C. 1924  D. 1927 
gdfy; mikr;ruitahy; cUthf;fg;gl;l gzpahsh; Njh;T thhpak; 
jkpo;ehl;by; ve;j Mz;L Njhw;Wtpf;fg;gl;lJ? 
A. 1916  B. 1920  C. 1924  D. 1927 
 

122. Match the following : 
a. Thembavani   1. Hindus 
b. Seerapuranam   2. Christians 
c. Bhagvad Gita   3. Buddhists 
d. Tripitakas   4. Muslims 
 a b c d 
A. 4 3 1 2 
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B. 2 1 3 4 
C. 1 3 4 2 
D. 2 4 1 3 
nghUj;Jf rkaq;fs; rhh;e;j E}y;fs; 
a. Njk;ghtzp  1. ,e;J rkak; 
b. rPwhg;Guhzk;  2. fpwp];Jt rkak; 
c. gftj;fPij  3. Gj;j rkak; 
d. jphpgPlfk;   4. ,];yhk; rkak; 
 a b c d 
A. 4 3 1 2 
B. 2 1 3 4 
C. 1 3 4 2 
D. 2 4 1 3 
 

123. _____ was discovered in 1992 under the Supervision of R.D. Bannerji. 
A. Mohenjadaro    B. Harappa 
C. Lothal     D. Kalibangan 
R.D. ghyh[p vd;gtuhy; 1922y; fz;lwpag;gl;l efuk; 
A. nkh`Q;rjhNuh   B. `ug;gh 
C. Nyhj;jy;    D. fypgq;fd; 
 

124. Who was called as „the father of Modern Currency‟ during the Mughal 
period? 
A. Babur  B. Akbar  C. Shershah D. Shah Jahan 
Kfyhah; fhyj;jpy; „etPd ehza Kiwapd; je;ij‟ vd miof;fg;gl;lth; 
ahh;? 
A. ghgh;  B. mf;gh;  C. n~h;~h  D. ~h[`hd; 
 

125. In the year 2017-18 The Per capita Income (GSDP) of Tamil Nadu was 
A. $ 1670  B. $ 2200  C. $ 1443  D. $ 2175 
2017-18y; jkpo;ehl;bd; jdp egh; tUkhdk; (GSDP) vt;tsT? 
A. $1670  B. $2200  C. $1443  D. $2175 
 

126. The Utkal plain is found in ___ states. 
A. Andhrapradesh   B. Mumbai 
C. Odhisha    D. Tamil Nadu 
cj;fy; rkntsp _______ khepyj;jpy; mike;Js;sJ 
A. Me;jpugpuNjrk;   B. Kk;ig 
C. xbrh     D. jkpo;ehL 
 

127. 0° longitude and 0° latitude is located in 
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A. Central Australia    B. Brazil 
C. Atlantic South and West of Africa D. South Pole 
0° jPh;f;f NuifAk; 0° ml;r NuifAk; fhzg;gLtJ 
A. kj;jpa M];jpNuypah   
B. gpNurpy; 
C. njd;ml;yhz;bf; kw;Wk; Nkw;F Mg;gphpf;fh 
D. njd; JUtq;fspy; 
 

128. Swine Flu is cause by 
A. Rubella virus     B. Rhina virus 
C. H1N1 virus     D. Alpha virus 
gd;wp fha;r;riy cUthf;Fk; itu]; 
A. Ugy;yh itu];  B. iuNdh itu]; 
C. H1N1 itu];   D. My;/gh itu]; 
 

129. The Androgen Binding protein is produced by 
A. Hypothalamus  B. Leydig cells 
C. Testosterone   D. Sertoli cells 
Md;l;Nuh[d; ,izT Gujj;ij cw;gj;jp nra;git 
A. i`Nghjyhk];  B. yPbf;nry;fs; 
C. nl];Nlh];BNuhd;  D. nrh;Nlhyp nry;fs; 
 

130. Assertion (A) : Blood samples are usually taken from the veins rather than 
artery. 
Reason (R) : Low Pressure in the veins 
A. Both (A) and (R) are true and (R) is the correct explanation of (A) 
B. (A) is true, (R) is false 
C. (A) is false, (R) is true 
D. Both (A) and (R) are true and (R) is not the correct explanation of (A) 
$w;W (A): ,uj;j khjphpfs; vLf;fj; jkdpfis tplr; rpiufNs rpwe;jit 
fhuzk; (R): rpiufspy; ,uj;j mOj;jk; Fiwthf ,Uf;Fk; 
A. A kw;Wk; R ,uz;Lk; rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fk; 
B. A rhp Mdhy; R jtW 
C. A jtW Mdhy; R rhp 
D. A kw;Wk; R ,uz;Lk; rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
 

131. Which of the following fact is incorrect about monocotyledonous plants? 
A. Seed has single cotyledon 
B. Leave have parallel venation 
C. Fibrous root system present 
D. Flowers are pentamerous 
gpd;tUk; xUtpj;jpiy jhtuq;fs; gw;wpa $w;wfspy; jtwhdJ vJ? 
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A. tpij xU tpj;jpiyia nfhz;lJ 
B. ,iyfspy; ,izg;Nghf;F euk;gikT fhzg;gLfpwJ 
C. ry;ypNth;j; njhFg;G fhzg;gLfpwJ 
D. Ie;jq;f kyh; fhzg;gLfpwJ 
 

132. Which of the following fact is incorrect about mitosis? 
A. It occurs only in body cells 
B. Mitosis has two divisions 
C. Maintenance of 2n chromosomes 
D. Two diploid cells are produced 
ikl;lhrp]; gw;wpa gpd;tUk; $w;Wfspy; jtwhdJ vJ? 
A. cly; nry;fspy; kl;Lk; eilngWfpwJ 
B. ikl;lhrp]; ,U gFg;Gfisf; nfhz;lJ 
C. „2n‟ FNuhNkhNrhk;fs; epiyepWj;jg;gLfpwJ 
D. ,U ,Ukanry;fs; Njhd;Wfpd;wd 
 

133. Which of the following are wrong? 
I. Na2CO3 is used in softening hard water 
II. NaHCO3 is used for bleaching cotton and linen in textile industry 
III. CaSO4  ½ H2O is used for plastering fractured bones 
IV. CaOCl2 is used in making of baking powder 
A. I and IV  B. II and IV  C. I and III  D. III and IV 
gpd;tUtdtw;Ws; jtwhdit vit? 
I. Na2CO3 fbd ePiu nkd;dPuhf khw;wg;gad;gLfpwJ 
II. NaHCO3 gUj;jp> ypdd; Jzpfis ntSf;fg; gad;gLfpwJ 
III. CaSO4 ½ H2O Kwpe;j vYk;Gfis xl;litf;fg; gad;gLfpwJ 
IV. CaOCl2 nuhl;br;Nrhlh jahhpf;fg; gad;gLfpwJ 
A. I kw;Wk; IV  B. II kw;Wk; IV 
C. I kw;Wk; III  D. III kw;Wk; IV 
 

134. Focal length of a convex mirror whose radius of curvature 40 cm is 
A. 20 cm  B. 40 c,  C. 80 cm  D. infinity 
40 nr.kP tisT Muk; cila Ftpahb xd;wpd; Ftpaj; njhiyT 
A. 20 nr.kP  B. 40 nr.kP  C. 80 nr.kP  D. Kbtpyp 
 

135. A man has to exert a force of 10 N at the edge of a door to push it open. 
How much force will the man have to exert if he pushes the centre of the 
door? 
A. 10 N  B. 5 N  C. 15 N  D. 20 N 
xU egh; xU fjit mjd; Kidapy; (ifg;gpbapy;) 10 N msT tpiria 
nrYj;jp jpwg;ghh;> vdpy; mNj fjit mjd; ikag; gFjpapy; ,Ue;J jpwf;f 
Njitg;gLk; tpirapd; kjpg;G vd;d? 
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A. 10 N  B. 5 N  C. 15 N  D. 20 N 
 

136. The first battery was made by 
A. Joule     B. George Simon ohm 
C. Alessandro Volta   D. Newton 
Kjy; kpd;fyj;ij cUthf;fpath; 
A. [{y;     B. [hh;[; irkd; Xk; 
C. mnyf;rhz;l;Nuh Nthy;lh  D. epa+l;ld; 
 

137. The average height of 12 students in a class was calculated as 152 cm. On 
verification it was found that one reading was wrongly recorded as 148 cm 
instead of 172 c. Find the correct mean height 
A. 150 cm  B. 156 cm  C. 158 cm  D. 154 cm 
xU tFg;gpy; 12 khzth;fspd; ruhrhp cauk; 152 nr.kP vdf; 
fzf;fplg;gl;lJ. rhpghh;f;Fk; NghJ 172 nr.kP vd;gij 14 nr.kP vd jtwhf 
vLj;Jf; nfhs;sg;gl;ljhf njhpa te;jJ vdpy; rhpahd ruhrhp cauk; ahJ? 
A. 150 nr.kP B. 156 nr.kP C. 158 nr.kP D. 154 nr.kP 
 

138. The difference of the squares of two positive numbers is 45. The square of 
the smaller number is four times the larger number. Find the numbers 
A. 3 and 15  B. 9 and 5  C. 3 and 16  D. 9 and 6 
,uz;L kpif vz;fspd; th;f;fq;fspd; tpj;jpahrk; 45. rpwpa vz;zpd; th;f;fk; 
MdJ nghpa vz;zpd; ehd;F klq;fpw;Fr; rkk; vdpy; me;j vz;izf; 
fhz;f 
A. 3 kw;Wk; 15  B. 9 kw;Wk; 5 
C. 3 kw;Wk; 16  D. 9 kw;Wk; 6 
 

139. The radius of a cart wheel is 35cm. How many revolution does it make in 
travelling a distance of 154 m 
A. 70   B. 189  C. 119  D. 86 
khl;L tz;br; rf;fuj;jpd; Muk; 35 nr.kP mJ 154 kP njhiyT fle;jhy;> 
mr;rf;fuk; vj;jid KOr;Rw;Wfs; Rw;wpapUf;Fk;? 
A. 70   B. 189  C. 119  D. 86 
 

140. Saran is 6 times as old as his son Sankar. After 4 years, he will be 4 times as 
old as his son. What are their present ages? 
A. 30, 5  B. 36, 6  C. 48, 8  D. 24, 4 
ruz; vd;gthpd; taJ jd; kfd; rq;fhpd; taijg;Nghy 6 klq;F. 4 
tUlq;fs; fopj;J mthpd; taJ kfd; taijg;Nghy 4 klq;F vdpy;> 
mth;fspd; jw;Nghija taJ vd;d? 
A. 30, 5  B. 36, 6  C. 48, 8  D. 24, 4 
 

141. Express 0.35  into fraction 
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A. 
35

99
  B. 

35

100
  C. 

5
3

10
 D. 

35

1000
 

0.35vd;w vz;iz gpd;dkhf khw;W 

A. 
35

99
  B. 

35

100
  C. 

5
3

10
 D. 

35

1000
 

 
142. How many numbers are there between 200 and 300 which are exactly 

divisible by 6, 8 and 9? 
A. one  B. Two  C. Three  D. Four 
200f;Fk; 300f;Fk; ,ilNa 6> 8 kw;Wk; 9 Mfpa vz;fshy; tFglf;$ba 
vz;fs; vj;jid cs;sd? 
A. xd;W  B. ,uz;L  C. %d;W  D. ehd;F 
 

143. A can do a piece of work in 20 days and B can do it in 30 days. How long 
will they take to do the work together? 
A. 10 days  B. 12 days  C. 11 days  D. 20 days 
A vd;gth; xU Ntiyia 20 ehl;fspYk; B vd;gth; mNj Ntiyia 30 
ehl;fspYk; nra;J Kbg;ghh;fs;. mt;tpUtUk; Nrh;e;J mt;Ntiyiar; nra;J 
Kbf;f vj;jid ehl;fs; MFk;? 
A. 10 ehl;fs;  B. 12 ehl;fs; 
C. 11 ehl;fs;  D. 20 ehl;fs; 
 

144. If 14 compositors can compose 70 pages of a book in 5 hours, how many 
compositors will compose 100 pages of this book in 10 hours? 
A. 12   B.  10  C. 8  D. 7 
14 mr;Rf; Nfhh;g;gth;fs;> 5 kzp Neuj;jpy; xU Gj;jfj;jpd; 70 gf;fq;fis 
Kbg;gh;. 10 kzp Neuj;jpy;> 100 gf;fq;fis Kbf;f vj;jid mr;Rf; 
Nfhh;g;gth;fs; Njit? 
A. 12   B. 10  C. 8  D. 7 
 

145. Find the simple interest on Rs. 7,500 at 8% per annum per 1 year 6 months. 
A. Rs. 600  B. Rs. 700  C. Rs. 800  D. Rs. 900 
₹7,500 f;F 8% tl;b tPjk; xU tUlk; 6 khjq;fSf;fhd jdp tl;biaf; 
fhz;f 
A. ₹ 600  B. ₹700  C. ₹800  D. ₹900 
 

146. Cricket player Dhoni‟s average in first 30 matches was 72 runs. After 31st 
match, his average raise as 73 runs. How many runs did he make in 31st 
match? 
A. 100  B. 103   C. 74  D. 108 
fphpf;nfl; tPuh; Nlhdpapd; Kjy; 30 Ml;lq;fSf;fhd ruhrhp Xl;lk; (runs) 72 
vdf;fzf;fplg;gl;bUe;jJ. 31tJ Ml;lk; eilngw;w gpd; mtUila ruhrhp 
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Xl;lk; 73 Mf cah;e;jJ vdpy; 31tJ Ml;lj;jpy; mth; vLj;jpUe;j 
Xl;lq;fs; (runs) vj;jid? 
A. 100  B. 103  C. 74  D. 108 
 

147. Arrange in ascending order 
3 1 5

, ,
4 2 8

 

A. 
1 5 3

, ,
2 8 4

  B. 
1 3 5

, ,
2 4 8

  C. 
3 5 1

, ,
4 8 2

  D. 
3 1 5

, ,
4 2 8

 

VWthpirapy; vOJf 
3 1 5

, ,
4 2 8

 

A. 
1 5 3

, ,
2 8 4

  B. 
1 3 5

, ,
2 4 8

  C. 
3 5 1

, ,
4 8 2

  D. 
3 1 5

, ,
4 2 8

 

 
148. In a T-20 Cricket match, Raju hit a „six‟ 10 times out of 50 balls he played. If a 

ball was selected at random. Find the probability that he would not have hit 
a “six”. 

A. 
1

5
  B. 

4

5
  C. 

6

5
  D. 

3

5
 

T-20 kl;ilg;ge;J Nghl;bapy; uhR 50 ge;Jfis vjph;nfhz;L 10 Kiw 
“MW” Xl;lq;fis vLj;jhh;. mth; vjph;nfhz;l ge;Jfspy; xU ge;ij 
rktha;g;G Kiwapy; Njh;e;njLf;Fk; NghJ mjpy; mth; “MW” Xl;lq;fs; 
vLf;fhky; ,Ug;gjw;fhd epfo;jfT vd;d? 

A. 
1

5
  B. 

4

5
  C. 

6

5
  D. 

3

5
 

 
149. „Right to clean water‟ is a fundamental right, under the Indian Constitution. 

A. Article 12    B. Article 21  
C. Article 31    D. Article 41 
„Rj;jkhd FbePh; ngWjy;‟ vd;gJ ekJ mbg;gil chpik. ,J ,e;jpa 
murpayikg;gpy; ve;j gphptpy; mlq;fpAs;sJ? 
A. gphpT 12  B. gphpT 21  C. gphpT 31  D. gphpT 41 
 

150. “The Detroit of Asia” is 
A. Hyderabad    B. Chennai 
C. Mumbai     D. Surat 
„Mrpahtpd; nll;uha;l;‟ vd;wiof;fg;gLk; ,lk; 
A. i`juhghj;  B. nrd;id  C. Kk;ig  D. #uj; 
 

151. The education system in India consists of primarily ___ levels. 
A. Eight  B. Six   C. Four  D. Two 
,e;jpa fy;tpKiw mbg;gilapy; ________ epiyfisf; nfhz;Ls;sJ 
A. vl;L  B. MW C. ehd;F  D. ,uz;L 
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152. Kamaraj served as the Chief Minister of Tamil Nadu for 
A. 7 years   B. 8 years  C. 9 years  D. 10 years 
jkpo;ehl;bd; Kjyikr;ruhf fhkuh[h; gjtp tfpj;jJ 
A. 7 tUlq;fs;  B. 8 tUlq;fs; 
C. 9 tUlq;fs;  D. 10 tUlq;fs; 
 

153. GST came into effect on ___ in India. 
A. 29th March 2017   B. 1st July 2017 

C. 29th March 2016   D. 1st July 2016 
GST ,e;jpahtpy; eilKiwf;F te;jJ 
A. 29 khh;r; 2017  B. 1 [{iy 2017 
C. 29 khh;r; 2016  D. 1 [{iy 2016 
 

154. Mutant variety of wheat is 
A. Oenothera Lamarkiana  B. Castor Aruna 
C. Sharbati Sonora   D. Mirabilis Jalaba 
rLjp khw;w NfhJik tif 
A. <NdhjPuh yghkhh;f;fpahdh  B. Mkzf;F mUzh 
C. rhh;gjp nrhNdhuh   D. kpuhgpyp]; [yhgh 
 

155. Which of the following statement is not correct? 
A. Indus Valley people used burnt bricks 
B. This civilization flourished in India about 4700 years ago 
C. Harappa in Sindhi means “Buries City” 
D. Hundreds of square seals were discovered here 
ve;j $w;W jtwhdJ? 
A. rpe;J rkntsp kf;fs; Rl;l nrq;fw;fisg; gad;gLj;jpdh; 
B. Rkhh; 4700 Mz;LfSf;F Kd;G ,e;ehfhpfk; kyh;e;jJ 
C. `ug;gh vd;w rpe;jpnkhopr; nrhy;Yf;F „GiuAz;l efuk;‟ vd;gJ nghUs; 
D. rJu tbtpyhd E}w;Wf;fzf;fhd Kj;jpiufs; ,q;F 

fz;nlLf;fg;gl;Ls;sJ 
 

156. Which article of the Indian Constitution talks about “Taxes levied and 
collected by the Union but assigned to the States? 
A. Art. 201  B. Art. 269  C. Art. 272  D. Art. 268 
kj;jpa murhy; tpjpf;fg;gl;Lk;> t#ypf;fg;gl;Lk;> khepyq;fSf;F xJf;ff;$ba 
tsq;fs; gw;wp Fwpg;gpLk; ,e;jpa murpayikg;G rl;lj;jpd; ruj;J vz; ahJ? 
A. ruj;J 201  B. ruj;J 269  
C. ruj;J 272  D. ruj;J 268 
 

157. I. Baripada: A hamlet that Conserves Forest, promotes growth. 
II. Baripada: Located in Maharastra – Gujarat border. 
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A. I is true but II is false   B. I and II is true 
C. I is false but II is true   D. I and II are false 
I. ghhpglh: fhLfisg; ghJfhj;J tsg;gLj;Jk; xU Ff;fpuhkk; 
II. ghhpglh: k`huh~;buh – F[uhj; vy;iyapy; mike;Js;sJ 
A. I vd;gJ rhp> Mdhy; II jtW 
B. I kw;Wk; II rhpahdit 
C. I vd;gJ jtW> Mdhy; II vd;gJ rhp 
D. I kw;Wk; II jtwhdit 
 

158. Chennai becomes the ___ Indian city with metro railway. 
A. first  B. fifth  C. sixth  D. second 
,e;jpa mstpy;> nrd;id efuk;> nkl;Nuh ,uapy; Nrit nfhz;l _____ 
efukhFk; 
A. KjyhtJ B. Ie;jhtJ C. MwhtJ  D. ,uz;lhtJ 
 

159. When was Swachh Bharat Abhuyan was announced by the Prime Minister? 
A. 2 Oct 2013   B. 15 August 2014 

C. 2 Oct 2015   D. 2 Oct 2016 
vg;nghOJ ];tj; ghuj; mgpahd; gpujk ke;jphpahy; mwptpf;fg;gl;lJ? 
A. 2 mf;Nlhgh; 2013  B. 15 Mf];l; 2014 
C. 2 mf;Nlhgh; 2015  D. 2 mf;Nlhgh; 2016 
 

160. How many political parties participated in the 1951 First Indian General 
Election? 
A. 54   B. 64  C. 74  D. 84 
1951Mk; Mz;L eilngw;w Kjy; ,e;jpa nghJj;Njh;jypy; Nghl;bapl;l 
fl;rpfs; vj;jid? 
A. 54   B. 64  C. 74  D. 84 
 

161. India‟s central meridian passes through 
A. Ahmedabad    B. Mirzapur 
C. Greenwich    D. Gujarat 
,e;jpahtpd; kj;jpa jPh;f;f Nuif _________ topahf nry;YfpwJ 
A. mfkjhghj; B. kph;rhg+h;  C. fPhpd;tpr;  D. F[uhj; 
 

162. Who is the first Indian transgender to be honoured with „Padmashri‟? 
A. Satyasree Sharmila  B. Prithika Yashini 
C. Narthaki Natraj  D. Tamilselvi 
gj;k= tpUJ ngw;w Kjy; ,e;jpa jpUeq;if ahh;? 
A. rj;a= ~h;kpsh  B. gphPj;jpfh ah~pdp 
C. eh;j;jfp el;uh[;  D. jkpo;r;nry;tp 
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163. During 1857, the peasants had to pay heavy taxes in the form of 
A. Land tax  B. Customs duty 
C. Revenue tax  D. Service tax 
1857y; Fbahdth;fs; mjpfkhf nrYj;j Ntz;bapUe;j thp? 
A. epythp   B. Rq;f thp 
C. tUkhd thp  D. Nrit rhp 
 

164. Home rule league in Bombay was formed by 
A. Bharathiar  B. Mrs. Annie Besant 
C. Nehru   D. Tilak 
gk;ghapy; jd;dhl;rp fofj;ij Njhw;Wtpj;jth; 
A. ghujpahh;  B. jpUkjp md;dpngrd;l; 
C. NeU   D. jpyfh; 
 

165. Match the following 
a. Herald of new age   1. Anni Besant 
b. Martin Luther of Hinduism 2. Raja Rammohan Roy 
c. New India    3. Ramakrishna Mission 
d. Photo Voltaic lighting system 4. Swami Dyanandha Saraswathi 
 a b c d 
A. 1 3 2 4 
B. 2 4 1 3 
C. 4 3 2 1 
D. 1 4 3 2 
nghUj;Jf 
a. etPd ,e;jpahtpd; tpb nts;sp  1. md;dpngrd;l; 
b. ,e;J rkaj;jpd; khh;l;bd; Y}jh;  2. ,uh[h uhk;Nkhfd; uha; 
c. epa+ ,e;jpah     3. ,uhkfpU~;zh klk; 
d. #hpa xsp %yk; kpd;rhuk;   4. Rthkp jahde;j ru];tjp 
 a b c d 
A. 1 3 2 4 
B. 2 4 1 3 
C. 4 3 2 1 
D. 1 4 3 2 
 

166. The Central Vigilance Commission was established on the recommendation 
of 
A. Administrative Reforms Commission 
B. National Development Council 
C. Santhanam Committee on Prevention of Corruption 
D. Law Commission 
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__________ FOtpd; ghpe;Jiuapd; mbg;gilapy; kj;jpa fz;fhzpg;G 
Mizak; mikf;fg;gl;lJ 
A. eph;thf rPh;jpUj;j Mizak; B. Njrpa tsh;r;rpf; FO 
C. re;jhdk; Coy; jLg;G FO D. rl;l Mizak; 
 

167. The Chief Justice and other Judges of the Indian Supreme Court are 
appointed by 
A. The President    B. The Attorney General 
C. The Governor    D. The Prime Minister 
,e;jpa cr;r ePjpkd;w jiyik ePjpgjp kw;Wk; gpw ePjpgjpfis epakpg;gth; 
A. FbauRj;jiyth;  B. jiyik tof;FiuQh; 
C. MSeh;    D. gpujk mikr;rh; 
 

168. Which Amendment has made provision related to „Nagar Palikas‟ (Urban 
Local Governments)? 
A. 73rd Amendment Act  B. 75th Amendment Act 
C. 74th Amendment Act  D. 70th Amendment Act 
efh; ghypfh rl;lk; rhh;e;j rl;l jpUj;jk; ______ MFk; 
A. 73tJ rl;lj;jpUj;jk;  B. 75tJ rl;lj;jpUj;jk; 
C. 74tJ rl;lj;jpUj;jk;  D. 70tJ rl;lj;jpUj;jk; 
 

169. Which Union Territory has its own elected Legislative Assembly? 
A. Chandigarh   B. Lakshadweep 
C. Puducherry   D. Daman and Diu 
fPo;f;fz;ltw;Ws; ve;j a+dpad; gpuNjrk; jdf;nfd;W kf;fshy; 
Njh;e;njLf;fg;gl;l rl;lkd;wk; nfhz;lJ 
A. rz;bfh;    B. yl;rj;jPTfs; 
C. GJf;Nrhp    D. lhkd; kw;Wk; ila+ 
 

170. In Lok Sabha, how many members are elected directly by the people? 
A. 453  B. 354  C. 543  D. 545 
kf;fsitapy; kf;fshy; Neubahf Njh;e;njLf;fg;gLk; cWg;gpdh;fspd; 
vz;zpf;if ahJ? 
A. 453  B. 354  C. 543 D. 545 
 

171. Which article of The Indian Constitution deals with fundamental rights? 
A. 14   B. 19  C. 32  D. 51 A 
,e;jpa murpayikg;gpd; ve;j tpjp mbg;gilf;flikfis Fwpj;J 
tpsf;FfpwJ? 
A. 14   B. 19  C. 32  D. 51m 
 

172. Which right has been abolished by the 44th Amendment Act, 1978? 
A. Right to freedom of religion 
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B. Right against Exploitation 
C. Right to Property 
D. Right to Constitutional remedies 
1978y; 44tJ murpayikg;Gr; rl;lj;jpUj;jj;jpd; gb mbg;gil 
chpikapypUe;J ePf;fg;gl;l chpik vj? 
A. rkar; Rje;jpuj;jpw;fhd chpik 
B. Ruz;liy jLg;gjw;fhd chpik 
C. nrhj;Jhpik 
D. murpayikg;G top jPh;TfSf;fhd chpik 
 

173. “The Right to information Act‟ was passed by parliament on 
A. 20 October 2005  B. 21 October 2005 
C. 25 October 2005  D. 12 October 2005 
„jfty; mwpAk; chpikr; rl;lk;‟ ghuhSkd;wj;jpy; epiwNtw;wg;gl;l ehs; 
A. 20 mf;Nlhgh; 2005  B. 21 mf;Nlhgh; 2005 
C. 25 mf;Nlhgh; 2005  D. 12 mf;Nlhgh; 2005 
 

174. Match the following : 
a. First session of Constituent Assembly  1. 4th April 1957 
b. Date on which Drafting Committee 
 was setup      2. 13th May 1952 
c. 1st sitting of Rajya Sabha    3. 29th August 1947 
d. Dissolution of the 1st Lok Sabha   4. 9th December 1946 
 a b c d 
A. 4 3 2 1 
B. 1 2 3 4 
C. 3 1 4 2 
D. 2 4 1 3 
nghUj;Jf 
a. murpay; eph;za rig Kjy; $l;lk;  1. 4 Vg;uy; 1957 
b. tiuTf;FO cUthf;fg;gl;l Njjp  2. 13 Nk 1952 
c. khepyq;fs; mitapd; Kjy; $l;lj;njhlh; 3. 29 Mf];l; 1947 
d. FbauR jpdk;      4. 9 brk;gh; 1946 
 a b c d 
A. 4 3 2 1 
B. 1 2 3 4 
C. 3 1 4 2 
D. 2 4 1 3 
 

175. The Railway Station “Mendipathar” is located in 
A. Sikkim  B. Meghalaya C. Tripura  D. Nagaland 
„nkd;bgjhh;‟ ,uapy; epiyak; ve;j khepyj;jpy; mike;Js;sJ? 
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A. rpf;fpk;  B. Nkfhyah C. jphpGuh  D. ehfyhe;J 
 

176. The first state to be created on Linguistic basis was 
A. Kashmir  B. Tamilnadu C. Karnataka D. Andhra 
Kjy; nkhopthhp khepyk; vJ? 
A. fh~;kPh;  B. jkpo;ehL  C. fh;ehlfk; D. Me;jpuh 
 

177. Who provided the Vimana of the famous Nataraja temple at Chidambaram 
with a golden roof? 
A. Raja Rajan – I    B. Parantaka – I 

C. Rajendira – I    D. Narasimhavarman – I 
rpjk;guk; eluh[h; Myaj;jpd; $iuf;F nghw;$iu Nta;e;jth; ahh;? 
A. Kjyhk; uh[uh[d;   B. Kjyhk; guhe;jfd; 
C. Kjyhk; uhN[e;jpud;   D. Kjyhk; eurpk;kth;kd; 
 

178. Who was called “Madurai Kondan”? 
A. Aditya – I   B. Rajarajan – I 
C. Raja Raja – II   D. Parantaka – I 
“kJiu nfhz;lhd;” vd;W Gfog;gl;lth; ahh;? 
A. Kjyhk; Mjpj;jpah  B. Kjyhk; ,uh[uh[d; 
C. ,uz;lhk; ,uh[uh[d; D. Kjyhk; guhe;jfd; 
 

179. Who was the son of Simhavishnu? 
A. Narasimha Varman   B. Mahendra Varman – I 

C. Parameswar Varman  D. Nandivarman 
rpk;ktp~;Ztpd; kfd; ahh;? 
A. eurpk;kth;kd;    B. Kjyhk; kNfe;jputh;kd; 
C. guNk];tuth;kd;   D. ee;jpth;kd; 
 

180. Headquarter of West Central Railway 
A. Mumbai     B. Hubli 
C. New Delhi    D. Jabalpur 
Nkw;F kj;jpa uapy;Ntapd; jiyikaplk;? 
A. Kk;ig  B. `{g;sp  C. GJnly;yp D. [gy;g+h; 
 

181. Which of the following is correctly matched : 
I. Indus  -  Gangothri 
II. Brahmaputra - Lake Manasarovar 
III. Godavari - Bettul 
IV. Mahanadhi - Agasthiyar Hills 
A. I   B. II  C. III  D. IV 
fPo;f;fz;ltw;Ws; rhpahf nghUj;jg;gl;Ls;sJ vJ? 
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I. rpe;J   - fq;Nfhj;hp 
II. gpuk;kGj;jpuh - khdrNuhth; ejp 
III. Nfhjhthp  - ngl;^h; 
IV. Kfhejp  - mfj;jpah; kiy 
A. I  B. II  C. III  D. IV 
 

182. Which of the following facts are correct about prokaryotic cells 
I. Prominent nucleus is absent 
II. Nucleolus is present 
III. Mitosis and meiosis cell divisions are takes place 
IV. Enveloped cell organelles are absent 
A. I and II are correct   B. I and IV are correct 

C. II and III are correct   D. III and IV are correct 
gpd;tUk; GNuhNfhpNahl;L nry;fs; gw;wpa $w;Wfspy; rhpahdit vit? 
I. njspthd cl;fU fpilahJ 
II. epa+f;spNahy]; fhzg;gLfpwJ 
III. ikl;lhrp]; kw;Wk; kpahrp]; nry;gphpjy; eilngWfpwJ 
IV. rt;tpdhy; #og;gl;l nry; Ez;ZWg;Gfs; fpilahJ 
A. I kw;Wk; II rhp   B. I kw;Wk; IV rhp 
C. II kw;Wk; III rhp  D. III kw;Wk; IV rhp 
 

183. Which of the following is correct? 

A. Respiratory Quotient = 2

2

Volumeof CO liberated

Volumeof O consumed
 

B. Respiratory Quotient = 2

2

Volumeof O liberated

Volumeof CO consumed
 

C. Respiratory Quotient = 2

2

Volumeof O consumed

Volumeof CO liberated
 

D. Respiratory Quotient = 2

2

Volumeof CO consumed

Volumeof O liberated
 

gpd;tUtdtw;wpy; rhpahdJ vJ? 

A. 2

2

CO

O

ntspaplg; gLk;  msT

Rthr tjP k;  
gad; gLj; jg; gLk;  msT

 

B. 2

2

O

CO


ntspaplg; gLk;  msT
Rthr tjP k;  

gad; gLj; jg; gLk;  msT
 

C. 2

2

O

CO

gad; gLj; jg; gLk;  msT

Rthr tjP k;  
ntspaplg; gLk;  msT

 

D. 2

2

CO

O

gad; gLj; jg; gLk;  msT

Rthr tjP k;  
ntspaplg; gLk;  msT

 

 
184. The reaction which takes place at cathode of an electrochemical cell is 

A. oxidation    B. neutralization 
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C. reduction    D. substitution reaction 
xU kpd; Ntjpf;fydpy; vjph;kpd;thapy; epfOk; tpid 
A. Mf;rp[Ndw;wk;   B. eLepiyahf;fy; 
C. Mf;rp[d; xLf;fk;   D. gjpyPl;L tpid 
 

185. An example of commonly used Insecticide is 
A. Bordeaux mixture 
B. 2, 4-Dichloro phenoxy acetic acid 
C. Dichloro diphenyl trichloro ethane 
D. Arsenic 
nghJthfg; gad;gLj;jg;gLk; g+r;rpf;nfhy;ypf;F vLj;Jf;fhl;L 
A. Nghh;lhf;]; fyit  
B. 2> 4 il FNshNuh gPdhf;rp mrpl;bf; mkpyk; 
C. ilFNshNuh ilgPidy; l;iuFNshNuh <j;Njd; 
D. Mh;rdpf; 
 

186. Match the following elements with its Latin name : 
a. Lead   1. Stibium 
b. Antimony  2. Plumbum 
c. Tin    3. Kalium 
d. Potassium  4. Stannum 
 a b c d 
A. 1 3 2 4 
B. 1 2 3 4 
C. 2 1 4 3 
D. 4 1 2 3 
fPNo nfhLf;fg;gl;Ls;s jdpkq;fis mjd; yj;jPd; ngah;fNshL 
njhlh;GgLj;jTk; 
a. nyl;   1. ];bgpak; 
b. Md;bkzp  2. gpsk;gk; 
c. bd;   3. fhypak; 
d. nghl;lhrpak;  4. ];Nldk; 
 a b c d 
A. 1 3 2 4 
B. 1 2 3 4 
C. 2 1 4 3 
D. 4 1 2 3 
 

187. If the focal length of a concave lens is 2 m, then the power of the lens is 
A. 2 dioptre  B. 1 dioptre 
C. 0.5 dioptre  D. -0.5 dioptre 
2 kP Ftpaj;njhiyT cila Fopnyd;rpd; jpwd; 
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A. 2 ilahg;lh;  B. 1 ilahg;lh; 
C. 0.5 ilahg;lh;  D. – 0.5 ilahg;lh; 
 

188. The maximum temperature in a city on 7 days of a certain week was 34.8°C, 
38.5°C, 33.4°C, 34.7°C, 35.8°C, 32.8°C, 34.3°C. Find the mean temperature for 
the week. 
A. 34.8°C  B. 34.9°C  C. 34.7°C  D. 35.2°C 
xU Fwpg;gpl;l thuj;jpy; efuj;jpd; mjpfgl;r ntg;gepiy 34.8°C, 38.5°C, 
33.4°C, 34.7°C, 35.8°C, 32.8°C, 34.3°C Mf ,Ue;jJ. me;j thuj;jpd; ruhrhp 
ntg;gepiyiaf; fhz;f 
A. 34.8°C  B. 34.9°C  C. 34.7°C  D. 35.2°C 
 

189. A group of 100 candidates have their average height 163.8 cm with 
coefficient of variation 3.2. What is the standard deviation of their heights? 
A. 3.23  B. 4.91  C. 5.24  D. 6.38 
xU FOtpy; 100 Ngh; cs;sdh;> mth;fspd; cauq;fspd; $l;Lr;ruhrhp 163.8 
nr.kP kw;Wk; khWghl;Lf;nfO 3.2 vdpy;> mth;fSila cauq;fspd; 
jpl;ltpyf;fj;ijf; fhz;f 
A. 3.23  B. 4.91  c. 5.24  D. 6.38 
 

190. The present ages of Reena and Usha are 24 years and 36 years respectively 
what was the ratio between the ages of Usha and Reena, 8 years ago? 
A. 7 :4  B. 6 : 5  C. 2 : 3  D. 4 : 7 
hPzh kw;Wk; c~htpd; jw;Nghija taJfs; KiwNa 24 tUlq;fs; kw;Wk; 
36 tUlq;fs; vdpy; 8 Mz;LfSf;F Kd;G c~h kw;Wk; hPzhtpd; 
taJfspd; tpfpjk; vd;dthf ,Ue;jpUf;Fk;? 
A. 7 : 4  B. 6 : 5  C. 2 : 3  d. 4 : 7 
 

191. Simplicity 
3 2 2 3

4 2 4 2

(3 ) (2 )

(2 ) 3 4

 

  



 
 

A.
2

7
9

   B. 
2

9
7

  C. 
1

7
9

  D. 
1

9
7

 

RUf;F: 
3 2 2 3

4 2 4 2

(3 ) (2 )

(2 ) 3 4

 

  



 
 

A.
2

7
9

   B. 
2

9
7

  C. 
1

7
9

  D. 
1

9
7

 

 
192. The total surface area of cube is 384 m2 Find the side of the cube 

A. 3 m  B. 8 m  C. 4 m  D. 6 m 
xU fdr;rJuj;jpd; nkhj;j tisgug;G 384m2 vdpy; mjd; gf;fk; vt;tsT? 
A. 3 kP  B. 8 kP  C. 4 kP  D. 6 kP 
 

193. Find the LCM of 3(a - 1), 2(a - 1)2, (a2 - 1) 
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A. (a + 1)2(a + 1)   B. (a - 1)2 (a + 1) 
C. 6(a - 1) (a + 1)2   D. 6 (a - 1)2 (a + 1) 

2 23( 1), 2( 1) ,( 1)a a a    d; kPr;rpW nghJ klq;F fhz;f 

A. 2( 1) ( 1)a a     B. 2( 1) ( 1)a a   

C. 26( 1)( 1)a a     D. 26( 1) ( 1)a a   

 

194. Find the cube root of 
61

1
64

 

61
1

64
 d; Kg;gb %yk; fhz;f 

A. 

5

8   B. 

3

7   C. 

5

4   D. 

8

5  
 

195. The ratios of the respective heights and the respective radii of two cylinders 
are 1 : 2 and 2 : 1 respectively. Then their respective volumes are in the ratio. 
A. 4 : 1  B. 1 : 4  C. 2 : 1 D. 1 : 2 
,uz;L cUisfspd; cauq;fs; KiwNa 1 : 2 kw;Wk; mtw;wpd; Muq;fs; 
KiwNa 2 : 1 Mfpa tpfpjq;fspypUg;gpd;> mtw;wpd; fd msTfspd; tpfpjk; 
A. 4 : 1  B. 1 : 4  C. 2 : 1 D. 1 : 2 
 

196. At what rate of interest a sum of money doubles itself in 10 years in simple 
interest? 
A. 10%  B. 20%  C. 50%  D. 25% 
xU njhifahdJ jdptl;b Kiwapy; 10 tUlj;jpy; ,ul;bg;ghf Mf tl;b 
tPjk; vd;dthf ,Uf;f Ntz;Lk;? 
A. 10%  B. 20%  C. 50%  d. 25% 
 

197. In a Geometric progression t2 = 
3

5
; t3 = 

1

5
. Then the common ratio is 

A. 
1

5
  B. 

1

3
  C. 1  D. 5 

xU ngUf;Fj;njhlh; thpirapy; 2 3

5
t   kw;Wk; 3 1

5
t   vdpy; nghJ tpfpjk; 

fhz;f 

A. 
1

5
  B. 

1

3
  C. 1  D. 5 

 

198. If a1 = -1 then find a2, a3 in 1 1
2

n
n

a
a n n

n

   


N 

A. 
1 1

,
4 20

  B. 
1 1

,
4 20


  C. 

1 1
,

4 20


  D. 

1 1
,

4 20

 
 

1 1a    kw;Wk; 1 , 1
2

n
n

a
a n n N

n

   


 vdpy; 2 3,a a  fhz;f 
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A. 
1 1

,
4 20

  B. 
1 1

,
4 20


  C. 

1 1
,

4 20


  D. 

1 1
,

4 20

 
 

 
199. If 1+2+….+n = K then 13+23+….+n3 is equal to 

A. K2      B. K3 

C. 
( 1)

2

K K 
     D. (K+1)3 

1 2 3 ... n K      vdpy; 3 3 31 2 ... n    vd;gJ 

A. 2K   B. 3K   C. 
( 1)

2

K K 
  D. 3( 1)K   

 
200. The Common ratio of the G.P. am-n, am, am+n is 

A. am   B. a-m   C. an  D. a-n 

, ,m n m m na a a   vd;w ngUf;Fj;njhlh; thpirapd; nghJ tpfpjk; 

A. ma    B. ma    C. na   D. na  
 


